IYACHAMY ACADEMY

Institution For Competitive Exam

TNPSC GROUP 1 MAINS - 2021
MODEL TEST 1
GENERAL STUDIES PAPER -1

Unit -1 Modern history of India and Indian culture
Section - A

fflans oL uassh oomacms
Detailed answer type question
gaQamadp@h 150 QenmpaeErése Blsme oL walssa
Answer not exceeding 150 words each
@aQanwm dordpend 10 wAHIQUGGTSdr
Each Question carries 10 marks
Answer any four questions out of five questions.

Qsr@péstur_Herer b cflomssafe amaCugh Hréag domésEhs@ il wefléssalb

1. "The victory in the battle of Buxar made the East India Company as
sovereign power in India." Explain.
"user Gumflo Sy Qapd SHpssbHu  sbLusilow  GnhSlwnelleo

Sovpwnerenw Ganeon_ edsdluns wrHOwWE." oflerses

2. Do you agree with the view that the scheme of constitutional changes
introduced in 1909 Act was designed as a milestone in the divide and rule
strategy.

1909 s g8leo odwsiu@ssiul L Sirflucoeply wmhbriser Glflssrenb
Q&neroms 2 $5960T RIH DO HEOMISH 6OlgAIMDLESEIULL S 61D &IHSHNS

Briser o mys6lsnensldiesemn?

3. Critically analyse the Major Trends in Swadeshi Movement. Do you thing

it anticipated some features of Gandhiyan Strategy
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a8Cp8 Qubsssler Wé&Sw Cuis@amer aflvjscr fHuns ugiumie Glainbisear.
smbHu ANiysssHler feo obsBismer G eISITUNTSSE oreorm Hlemooré&Hld e emm?

4. State the recommendations of Mandal Commission.

w660 @ gedlesr uflhgicmrsemor 6I(REIsH

5. Is it fair to say thar Rajaram Mohan Roy was the father of modern India

prgon pmbd Cunscoymi pefer GhSHlwnesler sHhoos oy Gleroeug Hlwmuwon?

Section - B

fiflams ool wals@b eflomamms
Detailed answer type question
paQaramhpen 250 Qempscrse Wlsme oo ualssab
Answer not exceeding 250 words each
@aQanm dlomadlbeb 15 wiiGusesdr
Each Question carries 15marks
Answer any four questions out of five questions.

Qsr@ésuul_[Hdrer mbg cflomssafico sromaCuD HIE cflomssEhsE e _waflésalb

6. "The great rising of 1857 could not have been the result of a chance cause
only. The Greased Cartridges merely precipitated the crisis." Comment on
the above statement and bring out clearly the causes which led to the so-
called Sepoy Mutiiny.

"857 geir Quapd erp&FAwnesgs @@ FHEHIUU sMewEsne LI HiCL FHUL 19.HHS
@wngl. Qanpiy sLeflw Cam L nsser Qpmesigomow g SAsTUHSSWE."
Copsadlu  sapoopd  updl  sGSHISF, SAlumi  swsb ey

SIOPESTUHOISD G SIyeoicT siyaombiscmors Ggeflans Gleaefliu@mssayb.

7. evaluate the work of Subash Chandrabose towards India's freedom

@nSluneiler &5bHSISSDens sures shSHlrCureder Ui wHTG@H S

8. Answer the following
a) Which sections of the society did the educated Indians came from?

Werite in five lines.
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b) List the aim and objectives of the Congress as defined by its first
President.

c) Mention four resolutions passed by the first Congress.
Spssc_apnneE oL weflss

a) ues85 GhSluiser FapssSler embst Cflasamers Caibsouiser? b ouflaaflco
ST(RGIBIS 6IT.

b) SImIS rerd) 601 W& 60 860 606U JITED U IUMISHSUUL L Crréssn O MID
Coréssnisemer UL L weS) (Hbiselr.

C) W6 suBISlrev HeovomCanhdu HrcoiE Sivramsmerd GDUGLaJb.

)

9. Discuss about the leaders and associations during the swadeshi movement
in Tamilnadu

85658 Qussnsslenr Cung slPs smeMIGHET DHNID Fol L cowlysemer cSlensléss

10. Give a latest status report on Kavery Water Dispute between Tamilnadu
and Karnataka
slpsd wOMID &I _&sr1 ool Cw sreflfl BSEF Grisomer GOSHS FBUSSIW

Blemevemws &Ups

Unit -2 Social issues in India and Tamil Nadu
Section - A

afflems ool wefléE@n ofleomaems
Detailed answer type question
gaQaradpen 150 Qenpaerése Blsmd o uassad
Answer not exceeding 150 words each
@aQanm derdpend 10 wHIQuGHEsET
Each Question carries 10 marks
Answer any four questions out of five questions.

Qasn@ésiul_[Hdrar mbg dlomésafico sromaGueD B cflomssEhsd e wallésalb

11. Highlight the Major policy measures initiated by Tamilnadu government
to retain children aged 6-14 years in school.
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12.

13.

16 wsedo 14 evwg euemyuSleomeor Ghogscmar Uerdtlifle HoEscmabss HOIs Srs

Qar_mSlyerer (Pé&Sw C&n6rems HL Qg HOSHDT 61(HE & OIHSa|D.

How is unemployment measured in India? Explain the impact of educated
unemployment on society in India.
SipSlunefleo Coauemeouilcsion sreueungy Sierefl_ UGS g ? SHHluneiler FapssSHleo

uUlg 585 Canemeouileremwuiles H1&HeHE5086 6l6rd @ s.

How would you respond to the view that the family is the primary site
for the oppression of women? Elaborate

&HDHUCH Qustismer RPHEGW PSHOTEDIWIIGT SOMb 6D &WHSHHE BBIsar
stuennm uSleoaflrSisen? ol flewnas 1R 515

14. Highlight the main problems of street and working children. Discuss the

role of NGO’s in tackling their problems
QsmGany woHmb GCoiewe GlFwyd Grhowssdiesr WasSwW  Glyssomcorsemer
wercflemeotiuflisab. Sauisefler GlpFsemoisomer MSWIGTOISI0 & GCOTEOIToN

Gl Hlpecmisefler ublemast uHN eSleunslés.

15. Define health. Discuss the importance of sex education in School and

Colleges
&HISHIID oIeOIuUmieEs. Udrefl  wOHOD sSocnflesafleo  umeSlwed  &eoedlulleor

W&SlwusHGHMGHmEST unHMl efleuns)

Section - B

dlfloms eflen weflé@b oflcmercma
Detailed answer type question
gaQarahpen 250 Qerpserse@ Blemde aflo_uaésab
Answer not exceeding 250 words each
@aQan® domdbeb 15 wiiGussdr
Each Question carries 15marks

Answer any four questions out of five questions.

Qsn@ésuul_[Hdrar mhg dlomssafico sromaGua)h B cflomssEpsd e waflésalb
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16. Explain the role of education in women Empowerment

Gluetniser oiflsnroefliuleo seoelluGlesr uBicns 6flers @&

17. Do you think poverty and Unemployment are inter related problems? If
so , how our national economic planners have been attempting to alleviate
poverty - Explain
aipicm b Caremeoulcremwun garmisblarem GClsm L w Glyéscneorser ererm
Bhiser  HlevosSdisem?  olugureme, Bog GCsAwn  Qunapernsnys

S Lblueuiser eumiemwemrwd Cunss eriulg WwhHEH CEnSprjser - oflordEs

18. Do you think that urbanization leads to rise of slums? Discuss.
&S IDWIDIE & 60 Geflaafleor oI(R&E 6@ o dlaiE &Sl g 6TGOT ) Bbiss e
HlencorsSlBisem? efleunsléss

19. Discuss the factors responsible for the rise of regional disparity in India
SihsSlwneileo SrmpSlw goOoSsSIDe] SlsFTusnHE Snyeononer snyailascmer’ umbmbl
Neundléas

20.Publicly naming and shaming might be a flawed process but it is the only
option available for any hope of justice for many victims of sexual
harassment. Critically examine
Qungisileo QuuilHaigib SiwLIGUURSHMGD WG Goopunblerer Gl&weons
S Bmoseomd, pemed urellued HOUDISSWEES pemer uBEE B S s
o160 BOYG®&ESE HIGoy Gy aipl. eflwiscor fSwns < ymis

Unit -3 General Aptitude & Mental Ability
Section - A

dlfloams eflewwafls@bh eflcmercms
Detailed answer type question
@aQamadpen 150 Qernpaerse Hame e ualssab
Answer not exceeding 150 words each
gaQanm dordped 10 wHIGUGTsdr

Each Question carries 10 marks
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Answer any two questions out of 3 questions.

Qsn@Réasiul’_[Hdrar apooy aflomssafleo sroaCugD @uauE 6flcmssEnsd
aflonL_waflésabd

21. A) An Organisation plans to plant saplings in 25 streets in a town in

such a way that one sapling for the first street, three for the second, and
nine for the third and so on. How many samplings are need to complete
the work

2w Hpoen 25 Qsmeseled GQegsamer BLs Sl LBl Lg. wseo Csampaie 1
Qauyd G _nteug Qsmeie 3 Qegub , eporproug Cmeile 9 Qagubd B

wiae] QeaiuiulL_gl. @aiGaicme HlempaicmLw assemer Gl&g ser G5 6mor

B) A and B are two candidates seeking admission to lIT. The probability

that A getting selected is 0.5 and the probability that both A and B
getting selected is 0.3. Prove that the probability of B become selected
atmost 0.8.
A WwOHMID B SSlw  @ap  NlesoreorIugS Ny o T w9eo Cafoush&ns
snsSlmpuuaiser. Goisefles A CsinbblsHssiuhaspasnc Hapsse 0.5 . A
vHppd B Goouomd Csibls@uuspharsr Hepsse 0.3 aofle , B
CoinbAsResstuRasbhare oiflsul s Hopsse 0.8 cer Hepss

22. Arun took certain amount as a loan from a bank at the rate of 8% p.a.

Simple interest and gave the same amount to vishal as a loan at the rate
of 12% p.a. If at the end of 12 years, he made a profit of Rs.960 in the
deal, then the original amount was

SIApetor eTedUeN) e@p amSltle e @OIUELL Gsrmassow 8% ey ofsssleo
sLems Qubmy <165 Osromscmw oflegred ecouefllnd 12% eaiig ofssSle0
sLoms oaflsSonr. 12 el kiser wigefed oSmesd 05r.960 emuwvns

HooL 550160 i) SLoluHD Glgnens.

23.Calculate the Mean for the Following Data

Sleoreu (b6 6unsH S 6Sl b HG1de. L (H&Frnaflsncsors
Marks/ vsluQueoser | 20 30 40 50 60 70
No of Students /|8 12 20 10 6 4

D IT600T 6 [§ 85 6IT6T600T 60011 &85 60) &
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Section - B

fiflens ool walé@h cfomamms
Detailed answer type question
gaQarahpen 250 QempsEpse@ Blsme oo ualssab
Answer not exceeding 250 words each
@aQare dordpebd 15 wivQUsdr
Each Question carries 15marks
Answer any two questions out of three questions.

Qsn@pésuul_[Hdrer wbg cflomssaflco crmaGu)h HIdE cflomssopsE e _waflésarb

24.Write short notes on
a) Near Field Communication Technology?
@iBsmw G iy Qsmpled miub
b) What is VOIP?
VOIP erestmmed 6eresreot
¢) What is "digital signature" and what is it used for?

1990l 60 cO&W(RSHS STEOIDIGD 6I6OT6TT DGl GIHMH @ UW6OTUHSSUUHIS DS

25. An urn contains 3 Blue, 3 red and 4 green marbles. If three marbles are
picked at random

a) What is the probability that two are green and one is red

b) What is the probability one Blue, one Red and one green

c) What is the probability all are green?
R0 UNHSSle0 3 Bootd, 3 ety wHOOD 4 vsems B veflhiE BmHE&ET 2 cromeor.
DOl BHg epoom UdllBEIG shET Gl gapIs a@HlbssUubHiSng

6Teofl60 6™ 6

a) Greor)  usems  Hlpwrsed @emm  HAey Hoovrsed SEHss

Bapsscoas HIes?

b) 660 Beownsa|b, geIn Sleiunrsebd, EIN USFEFUNSAD EIHéHE

Bapsscoas HIes?

C) epooimid UFems Hlpns @GupeEs Hepsscmals SI600rs ?
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26. Answer the Following

a) If product of two numbers is 800 and their LCM is 200, then the
HCF is
8@ oaaasefler Qumsasnusosr 800 whHmb wisuefp ersorsafler B.8.0 200
eteofleo, 1B.Glu.6x

b) Three bells toll at intervals of 48, 60 and 64 seconds respectively.
They start ringing together at a particular time. What is the least
time after that they will again toll together?
epeormy werllser 48, 60 wHmib 64 femeser GowL Gleveflulled ®ig & &ledrneor.
D™y epIHId Iy GSOIUEL L. Cprssled @omIs =igsHEs6H HiounsHleme
creuauere] Cruh &HSHEH BoTIRlbd REIDIS Siig&HEHWb?

QAF TS AFTevaevll HNBHTTAFTO DNFCFTEVENED
CNORYEHAFTD SIHTaMLD ANMHFI.

CauBMT{H AFT® DMbHF AFNDMD AMORYLD CFTOMTDH SVEOTHBHIHTED
by UDEs CAFTOMHBHBIUMBF  AFTOOCMUANGLD. OHbOTTED
WSIMDSH BHTalled AFTLTH LMD TIPHBTD B (HdHHEIaNBLD
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